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2. (20%) Suppose (hat the T-account for First Nalional bank is as follows:

Assets Liability
Reserves  $1000 Deposits  $5000
Loans 4000

(1) If the central bank requires banks lo hold 10 percenl of deposits as

reserves, how much in excess reserves does First National now
hold?

(2) Assume that all other banks hold only the required amount of

veserves. If First National bank borrows $100 discount loans from
the central bank, by how much would the economy’s money supply

and loans increase? Show final T-account for the banking system.

3. (20%) An economy is described by the following equalions

a.

d.

C=40+0.8(Y -T)
I=170
G =120
NX =10
T=150
Find the short run equilibrium oulput.
Find the government purchase multiplier.
If the potential outpul is 630. By how much would government
purchase have to change lo eliminate any output gap?
Find tax multipliet. By how much would (axes have (o change (o

eliminate any outpul gap?
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